	Lab
	scored cells
	dic
	dic / cell
	± SE
	distribution of dic
	DI
	u-value
	z-score
	z score result

	
	
	
	
	
	0 dic
	1 dic
	2 dic
	3 dic
	
	
	
	

	1
	50
	38
	0.76
	0.123
	23
	18
	7
	2
	0.94
	-0.29
	0
	Satisfactory

	2
	50
	37
	0.74
	0.122
	24
	16
	9
	1
	0.93
	-0.37
	-0.645
	Satisfactory

	3
	50
	35
	0.70
	0.118
	25
	17
	6
	2
	1.01
	0.03
	-1.935
	Satisfactory

	4
	50
	36
	0.72
	0.120
	25
	16
	7
	2
	1.02
	0.11
	-1.290
	Satisfactory

	5
	50
	39
	0.78
	0.125
	23
	18
	6
	3
	1.01
	0.05
	0.645
	Satisfactory

	6
	49
	37
	0.76
	0.122
	23
	17
	7
	2
	0.97
	-0.16
	-0.158
	Satisfactory

	7
	43
	31
	0.72
	0.129
	21
	15
	5
	2
	1.01
	0.06
	-1.260
	Satisfactory

	8
	49
	39
	0.80
	0.127
	22
	17
	8
	2
	0.94
	-0.29
	1.158
	Satisfactory

	9
	47
	37
	0.79
	0.129
	21
	17
	7
	2
	0.94
	-0.31
	0.878
	Satisfactory

	10
	49
	38
	0.78
	0.126
	22
	18
	7
	2
	0.93
	-0.36
	0.500
	Satisfactory

	11
	50
	37
	0.74
	0.122
	24
	17
	7
	2
	0.91
	-0.43
	-0.645
	Satisfactory

	12
	50
	38
	0.76
	0.123
	23
	18
	7
	2
	0.94
	-0.29
	0
	Satisfactory

	13
	50
	37
	0.74
	0.122
	23
	19
	6
	2
	0.93
	-0.37
	-0.645
	Satisfactory

	14
	50
	38
	0.76
	0.123
	25
	14
	9
	2
	1.05
	0.25
	0
	Satisfactory

	15
	48
	37
	0.77
	0.127
	23
	15
	8
	2
	1.01
	0.03
	0.349
	Satisfactory

	16
	50
	34
	0.68
	0.117
	25
	18
	5
	2
	0.99
	-0.07
	-2.580
	Questionable

	17
	50
	38
	0.76
	0.123
	23
	18
	7
	2
	0.94
	-0.29
	0
	Satisfactory
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